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SBI Clerk 1st Shift Exam Analysis

Topic Questions Asked

Puzzle & Seating Arrangement

Circular-Based Puzzle(7 person Inside Facing) -5 questions

Uncertain Linear Based Puzzle(21 persons)- 4 questions

Double Parallel Row Based Puzzle – 5 questions

Floor Based Puzzle(7 floor) – 5 questions

19

Direct Inequality 03

Syllogism 03

Alphabet Mix series 05

Blood Relation 03

Direction & Distance 01

Word Formation 01

Total 35



SBI Clerk 2nd Shift Exam Analysis

Topic Questions Asked

Puzzle & Seating Arrangement

Uncertain Linear Based Puzzle(n 17)- 4 questions

Box Based Puzzle(7 box) – 5 questions

Flat & Floor Based Puzzle(4*2) – 5 questions

Month Based Puzzle – 5 Question

19

Mix Inequality 04

Syllogism 04

Alphabet Mix series 05

Direction & Distance 02

Word Formation 01

Total 35



SBI Clerk 3rd Shift Exam Analysis

Topic Questions Asked

Puzzle & Seating Arrangement

Order Ranking based Puzzle – 4 question

Circular-Based Puzzle(7 person Inside Facing)- 5 questions

Post Based(7 person )- 5 questions

Parallel Row Based Puzzle – 5 questions

19

Mix Inequality 03

Syllogism 03

Alphabet Mix series 05

Blood Relation 03

Direction & Distance 01

Word Formation 01

Total 35



SBI Clerk 4th Shift Exam Analysis

Topic Questions Asked

Puzzle & Seating Arrangement

Circular Based Sitting Arrangement(8 Persons) – 5 Questions

Uncertain Number Based Puzzle(n 22) – 4 Questions

Linear Sitting Arrangement(8 Persons) – 5 Questions

Month Based Puzzle( Jan to Aug) – 5 Questions

Designation Based Puzzle – 4 Question

22

Syllogism 03

Alphabet Mix series 05

Blood Relation 03

Direction & Distance 01

Word Formation 01

Total 35





Eight persons A, B, C, D, E, F, G and H are 

sitting in a horizontal row. Four of them are 

facing north while the rest are facing south. G 

is the third person from left ends. Two people 

sitting at extreme ends face in the same 

direction. Three people sit between B and C. 

Neighbours of D face in the same direction but 

opposite to D. Neither C nor D sit at the 

extreme end. E sits to the left of H, who sits 

adjacent D . B sits adjacent to G and faces 

south. A and F are left of each other. Neither A

nor F sit at the extreme end.

Who among the following sits immediate left 

of C? 

1. D 2. F 3. B 4. H 5. E

आठ व्यक्ति A, B, C, D, E, F, G और H एक क्षैक्तिज 

पंक्ति में बैठे हैं। उनमें से चार का मखु उत्तर की ओर ह ैजबक्तक 

शेष दक्तक्षण की ओर उन्मखु हैं। G बाएं छोर से िीसरा व्यक्ति

ह।ै अकं्तिम छोर पर बैठे दो व्यक्ति समान क्तदशा में उन्मखु हैं।

B और C के मध्य िीन व्यक्ति बैठे हैं। D के पडोक्तसयों का

मखु समान क्तदशा में ह ैलेक्तकन D के क्तिपरीि। न िो C और न 

ही D अकं्तिम छोर पर बैठे हैं। E, H के बायें बैठा ह,ै जो D 

के आसन्न बैठा ह ै। B, G के आसन्न बैठा ह ैऔर दक्तक्षण 

की ओर उन्मखु ह।ै A और F प्रत्येक के बायें स्थान पर हैं । 

न िो A और न ही F अकं्तिम छोर पर बैठे हैं।

क्तनम्नक्तलक्तखि में से कौन C के ठीक बायें बैठा ह?ै

1. D 2. F 3. B 4. H 5. E



Eight persons A, B, C, D, E, F, G and H are 

sitting in a horizontal row. Four of them are 

facing north while the rest are facing south. G is 

the third person from left ends. Two people sitting 

at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face 

in the same direction but opposite to D. Neither C 

nor D sit at the extreme end. E sits to the left of H, 

who sits adjacent D . B sits adjacent to G and 

faces south. A and F are left of each other. 

Neither A nor F sit at the extreme end.

Who among the following sits immediate left of 

C? 

1. D 2. F 3. B 4. H 5. E



If it is possible to make only one meaningful word with the second, the fifth, the 

sixth and the seventh letter of the word JUDGEMENT using each letter only once in 

each word,which of the following will be the last letter of that word. If no such word 

can be made, give answer ’G’ and if more than such word can be made, give answer 

‘M’.

यक्तद JUDGMENT शब्द के दसूरे, पांचिें, छठे और साििें अक्षर से प्रत्येक शब्द में केिल एक बार 

प्रत्येक अक्षर का उपयोग करके केिल एक अथथपणूथ शब्द बनाना संभि ह,ै िो क्तनम्नक्तलक्तखि में से उस शब्द 

का अंक्तिम अक्षर कौन सा होगा। यक्तद ऐसा कोई शब्द नहीं बनाया जा सकिा ह,ै िो उत्तर 'G' दें और यक्तद 

इससे अक्तिक शब्द बन सकिे हैं, िो उत्तर 'M' दें। 

01. E 02. G

03. R 04. M

05. S



How many such pairs of letters are there in the word ALLAHABAD 

which has as many letters between them as they have in English alphabet 

series?

ALLAHABAD शब्द में अक्षरों के ऐसे क्तकिने यगु्म हैं क्तजनके बीच उिने ही अक्षर हैं क्तजिने

क्तक उनके बीच अगं्रेजी िणथमाला श्रखंला में हैं?

01. Eleven 02. Seven

03. Three 04. Eight

05. Five



172 321 525 643 268

If all the numbers are arranged in ascending order based on the third digit of the 

number then what is the sum of the numbers thus formed which is second from the 

right and the number which is second from the left?

यक्तद सभी संख्याओ ंको संख्या के िीसरे अंक के आिार पर आरोही क्रम में व्यिक्तस्थि क्तकया जािा है िो 

इस प्रकार बनी संख्याओ ंका योग क्या ह ैजो दायें से दसूरे स्थान पर ह ैऔर संख्या जो बायें से दसूरी ह?ै

01. 891 02. 780

03. 642 04. 497

05. 697



172 321 525 643 268

If we interchange the first digit with the second digit of each number and then we 

divide the first digit of the first number from right to the third digit of the third 

number from the left. What quotient will we get?

यक्तद हम पहले अंक को प्रत्येक संख्या के दसूरे अंक से बदल दें और क्तिर हम पहली संख्या के पहले अंक 

को दाए ंसे िीसरे अंक के िीसरे अंक में बाए ंसे क्तिभाक्तजि करिे हैं। हमें क्या भागिल क्तमलेगा?

01. 2 02. 2.5

03. 3 04. 3.5

05. 1.2



172 321 525 643 268

If we interchange the first and third digit of each number then arrange all the 

numbers in ascending order then which of the following number thus formed is 

third lowest?

यक्तद हम प्रत्येक संख्या के पहले और िीसरे अंक को आपस में बदल दें िो सभी संख्याओ ंको आरोही 

क्रम में व्यिक्तस्थि करें, िो इस प्रकार बनी क्तनम्न में से कौन सी संख्या िीसरी सबसे छोीी संख्या ह?ै

01. 172 02. 321

03. 643 04. 525

05. 268



172 321 525 643 268
If we add one in the even digit and subtract one from the odd digit in all the 

numbers then arrange all numbers in ascending order then which one is the lowest 

number?

यक्तद हम सम अंक में एक जोडिे हैं और सभी संख्याओ ंमें क्तिषम अंक में से एक घीािे हैं िो सभी 

संख्याओ ंको आरोही क्रम में व्यिक्तस्थि करिे हैं िो सबसे छोीी संख्या कौन सी ह?ै

01. 525 02. 268

03. 643 04. 172

05. 321



172 321 525 643 268

If all the numbers are arranged in ascending order then what is the 

difference between the numbers which are second and third from 

the left and right end respectively?

यक्तद सभी संख्याओ ंको आरोही क्रम में व्यिक्तस्थि क्तकया जािा ह,ै िो बाएं और दाएं 

छोर से क्रमशः दसूरी और िीसरी संख्या के बीच का अंिर क्या ह?ै

01. 72 02. 21

03. 53 04. 25

05. 68



Statements: J > U > N = K < E < D

Conclusions: I. U > D II. N > D



Statements: P < L < A > N = K > S, C > A

Conclusions: I. C > P II. S < C



Statements: P < L < A > N = K > S, C > A

Conclusions: I. K > L II. L < K



Statements: I < J < K < L > M > N, B > K, B=S

Conclusions: I. S > I II. S > N



Q. In a Certain code LOYALTY is written as MPZBMUZ ,than find the 

code for PROCLAIM ?

Q.एक निनित कोड में LOYALTY का कोड MPZBMUZ निखा गया है तो

PROCLAIM का कोड क्या होगा ?

1. QSPDDBJN

2. QSPDBMJN

3. QSPDMBJN

4. QPSDMBJN



Q. In a Certain code TOAST is written as 03210 , RIGID is written as 

45759 than find the code for DOOR ?

Q.एक निनित कोड में TOAST का कोड 03210 निखा गया है , RIGID का कोड

45759 निखा गया है तो DOOR का कोड क्या होगा ?

1. 9331

2. 9334

3. 3390

4. 1314



In a certain code language,

“focus on economic development” is written as “vl no py su”

“greater growth more development” is written as “wr ea vl om”

“more focus is important” is written as “su ta nx ea”

“economic growth is important” is written as “ta py om nx”

What is the code for ‘master’?/ के क्तलए कूी क्या ह?ै

1.ea

2.vl

3.om

4. tm

5. wr



Statements-

Only a few PQ01 are ER03.

All MV01 are ER03.

Conclusions-

I. All PQ01 can Never be MV01.

II. Some MV01 are PQ01.

कथन-

केिल कुछ PQ01 ER03 हैं। 

सभी MV01 ER03 हैं। 

क्तनष्कषथ-

I. सभी PQ01 कभी भी MV01 नहीं

हो सकिे। 

II. कुछ MV01, PQ01 हैं।



Statements-

Only a few PQ01 are ER03.

All MV01 are ER03.

Conclusions-

I. All PQ01 can Never be MV01.

II. Some MV01 are PQ01.



Statements-

Only a few BZ05 are ER03.

No BZ05 is HS01.

Conclusions-

I. Some HS01 are definitely not 

ER03.

II. All ER03 can never be HS01.

कथन-

केिल कुछ BZ05 ER03 हैं। 

कोई BZ05 HS01 नहीं ह।ै 

क्तनष्कषथ-

I. कुछ HS01 क्तनक्तिि रूप से ER03 नहीं 

हैं। 

II. सभी ER03 कभी भी HS01 नहीं हो 

सकिे।



Statements-

Only a few BZ05 are ER03.

No BZ05 is HS01.

Conclusions-

I. Some HS01 are definitely not 

ER03.

II. All ER03 can never be HS01.



Statements-.

Only a few EV11 are GT21.

Some FS01 are EV11.

No GT21 is a FS01.

Conclusions-

I. All FS01 are GT21.

II. Some EV11 are not FS01.

कथन-. 

केिल कुछ EV11 GT21 हैं। 

कुछ FS01 EV11 हैं। 

कोई GT21 FS01 नहीं ह।ै 

क्तनष्कषथ-

I. सभी FS01, GT21 हैं। 

II. कुछ EV11 FS01 नहीं हैं।



Statements-.

Only a few EV11 are GT21.

Some FS01 are EV11.

No GT21 is a FS01.

Conclusions-

I. All FS01 are GT21.

II. Some EV11 are not FS01.



Statements: 

All Greens are Yellows. 

No Yellows are Black. 

Conclusions: 

I. No Greens are Black. 

II. Some Greens are Black.

कथन: 

सभी ग्रीन येलो हैं. 

कोई येलो ब्लैक नहीं ह.ै 

क्तनष्कषथ: 

कोई ग्रीन ब्लैक नहीं हैं।

कुछ ग्रीन ब्लैक हैं.



Statements: 

All Greens are Yellows. 

No Yellows are Black. 

Conclusions: 

I. No Greens are Black. 

II. Some Greens are Black.



Statements: 

All Chairs are Sofas. 

Only a few Sofas are Beds. 

No Beds are Curtains. 

Conclusions: 

I. Some Sofas are not Beds. 

II. Some Sofas are not 

Curtains.

कथन: 

सभी चेयर सोिा हैं। 

केिल कुछ सोिा बेड हैं। 

कोई बेड कीेन नहीं हैं। 

क्तनष्कषथ: 

कुछ सोिा बेड नहीं हैं। 

कुछ सोिा पद ेनहीं हैं।



Statements: 

All Chairs are Sofas. 

Only a few Sofas are Beds. 

No Beds are Curtains. 

Conclusions: 

I. Some Sofas are not Beds. 

II. Some Sofas are not 

Curtains.



Point D is 10m north of point P. Point Y is 14m east of point D. Point Q is 

8m north of point Y. Point S is 20m west of point Q. Point H is 8m south 

of point S. 

क्तबंद ुD, क्तबंद ुP के 10मी उत्तर में ह।ै क्तबंद ुY, क्तबंद ुD के 14मी पिूथ में ह।ै क्तबंद ुQ, क्तबंदु Y के 

8मी उत्तर में ह।ै क्तबंद ुS, क्तबंद ुQ के 20मी पक्तिम में ह।ै क्तबंद ुH, क्तबंद ुS के 8मी दक्तक्षण में ह।ै 

What is the shortest distance between point H and point D? 

क्तबंद ुH और क्तबंद ुD के मध्य न्यनूिम दरूी क्तकिनी ह?ै

(a) 8m (b) 6m (c) 4m (d) 10m (e) None of these



The positions of how many digits in the number ‘824514796318’ will remain 

the same when the first half and the second half of the digits are arranged in 

ascending order separately?

संख्या '824514796318' में क्तकिने अंकों का स्थान समान रहगेा जब अंकों के पहले आिे और 

दसूरे भाग को अलग-अलग आरोही क्रम में व्यिक्तस्थि क्तकया जािा ह?ै

01. One 02. Two

03. None 04. Three

05. None of these



Eight people P, Q, R, S, T, U, W and X live in an 

eight story building, but not necessarily in the 

same order. The lowermost floor is numbered 1 

and the floor above it numbered as 2 and so on. 

The topmost floor is numbered 8. W lives 

immediately below P’s floor. P lives on an even-

numbered floor but not on the floor numbered 

second or fourth. Only three floors are there 

between P and Q. Only two people live between 

R and T. U lives on a floor above S. There are 

equal numbers of floors between the floors on 

which T and Q live and between the floors on 

which P and T live. X lives immediately below 

S’s floor. 

आठ व्यक्ति P, Q, R, S, T, U, W और X एक आठ

मंक्तजला इमारि में रहिे हैं, लेक्तकन जरूरी नहीं क्तक इसी 

क्रम में हों। सबसे क्तनचली मंक्तजल की संख्या 1 ह ैऔर 

उसके ऊपर की मंक्तजल की संख्या 2 और इसी िरह आगे 

भी। सबसे ऊपरी मंक्तजल की संख्या 8 ह।ै W, P के िल 

के ठीक नीचे रहिा ह।ै P एक सम संख्या िाली मंक्तजल 

पर रहिा ह ैलेक्तकन दसूरी या चौथी मंक्तजल पर नहीं रहिा 

ह।ै P और Q के बीच केिल िीन मंक्तजल हैं। R और T 

के बीच केिल दो लोग रहिे हैं। U, S के ऊपर एक 

मंक्तजल पर रहिा ह।ै T और Q क्तजस मंक्तजल पर रहिे हैं 

और क्तजस मंक्तजल पर P और T रहिे हैं। X, S के िल के 

ठीक नीचे रहिा ह।ै



Eight people P, Q, R, S, T, U, W and X live in an 

eight story building, but not necessarily in the 

same order. The lowermost floor is numbered 1 

and the floor above it numbered as 2 and so on. 

The topmost floor is numbered 8. W lives 

immediately below P’s floor. P lives on an even-

numbered floor but not on the floor numbered 

second or fourth. Only three floors are there 

between P and Q. Only two people live between 

R and T. U lives on a floor above S. There are 

equal numbers of floors between the floors on 

which T and Q live and between the floors on 

which P and T live. X lives immediately below 

S’s floor. 



8 friends A, B, C, D, E, F, G and H were 

born on different years 1980, 1981, 

1975, 1987, 1985, 1997, 1991 and 2000 

(not necessarily in same order). Note: 

They all were born on 1st January and 

consider their ages as on 1st January 

2020). Three persons are born between 

A and B. Two persons are born between 

H and G. Difference between the age of 

A and F is 10. C born just after G. A is 

older than B. Sum of the ages of C and E 

is three more than the age of D. F was 

born after A. 

8 क्तमत्र A, B, C, D, E, F, G और H का जन्म

अलग-अलग िषथ 1980, 1981, 1975, 1987, 

1985, 1997, 1991 और 2000 में हुआ था 

(जरूरी नहीं क्तक इसी क्रम में)। नोी: िे सभी 1 

जनिरी को पैदा हुए थे और उनकी उम्र 1 जनिरी 

2020 को मानी गई ह)ै। A और B के बीच िीन 

व्यक्ति पैदा होिे हैं। H और G के बीच दो व्यक्ति

पैदा होिे हैं। A और F की आय ुके बीच का अंिर 

10 ह।ै C का जन्म G के ठीक बाद हुआ ह।ै A, B 

से बडा ह।ै C और E की आय ुका योग ह ैD की 

आय ुसे िीन अक्तिक ह।ै F का जन्म A के बाद 

हुआ था।



8 friends A, B, C, D, E, F, G and H were 

born on different years 1980, 1981, 

1975, 1987, 1985, 1997, 1991 and 2000 

(not necessarily in same order). Note: 

They all were born on 1st January and 

consider their ages as on 1st January 

2020). Three persons are born between 

A and B. Two persons are born between 

H and G. Difference between the age of 

A and F is 10. C born just after G. A is 

older than B. Sum of the ages of C and E 

is three more than the age of D. F was 

born after A. 



Six persons P, Q, R, S, T and U were born 

in three different months May, September 

and November, on two different dates- 9 

and 16 not necessarily in the same order. P 

was born after R but not on the same date 

as that of R. Number of persons born before 

S is equal to the number of persons born 

after T. S was born before T . Q and U were 

born in the same month. T was born in a 

month having even number of days. Two 

persons were born between R and T. 

Who was born on 16th November?

1.P 2.Q 3.U 4.R

5.Either Q or U

छह व्यक्ति P, Q, R, S, T और U का जन्म िीन 

अलग-अलग महीनों मई, क्तसिंबर और निंबर में दो 

अलग-अलग क्तिक्तथयों पर हुआ था- 9 और 16 

जरूरी नहीं क्तक इसी क्रम में हों। P का जन्म R के 

बाद हुआ था लेक्तकन R के समान िारीख को नहीं। 

S से पहले पैदा हुए व्यक्तियों की संख्या T के बाद 

पैदा हुए व्यक्तियों की संख्या के बराबर ह।ै S का

जन्म T से पहले हुआ था।Q और U एक ही

महीने में पैदा हुए थे। T का जन्म सम क्तदनों िाले 

महीने में हुआ था। R और T के मध्य दो व्यक्तियों

का जन्म हुआ। 

16 निंबर को क्तकसका जन्म हुआ था? 

1.P 2.Q 3.U 4.R 

5.या िो Q या U



Six persons P, Q, R, S, T and U were born 

in three different months May, September 

and November, on two different dates- 9 

and 16 not necessarily in the same order. P 

was born after R but not on the same date 

as that of R. Number of persons born before 

S is equal to the number of persons born 

after T. S was born before T . Q and U were 

born in the same month. T was born in a 

month having even number of days. Two 

persons were born between R and T. 

Who was born on 16th November?

1.P 2.Q 3.U 4.R

5.Either Q or U



Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.

एक रैक्तखक पंक्ति में उत्तर की ओर उन्मखु व्यक्तियों की संख्या अक्तनक्तिि ह।ै Y, G के बाए ंसे पांचिें स्थान 

पर बैठा ह।ै Y और P के बीच दो व्यक्ति बैठे हैं। P क्तकसी एक अंक्तिम छोर से दसूरे स्थान पर बैठा ह।ै Z और 

G के बीच पांच व्यक्ति बैठे हैं। Z, Y का क्तनकीिम पडोसी नहीं ह।ै क्तजिने व्यक्ति G और Z के बीच बैठिे 

हैं, उिने ही व्यक्ति Z और Q के बीच बैठिे हैं। क्तजिने व्यक्ति P और Y के बीच बैठिे हैं उिने ही Y और X 

के बीच बैठिे हैं। Q, छोर से िीसरे स्थान पर बैठिा ह।ै



Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbour of C. More than two persons sit between F and E.

साि व्यक्ति A, B, C, D, E, F और G पंक्ति में बैठे हैं और सभी का मखु उत्तर की ओर ह ैलेक्तकन 

आिश्यक नहीं इसी क्रम में हो। B क्तकसी एक अंक्तिम छोर से दसूरे स्थान पर बैठा ह।ै D और B के 

बीच िीन व्यक्ति बैठे हैं। D और A के बीच दो व्यक्ति बैठे हैं। C, A के ठीक बाई ंओर बैठिा ह।ै F, 

C के बाई ंओर बैठिा ह,ै लेक्तकन C का क्तनकीिम पडोसी नहीं ह।ै F और E के बीच दो से अक्तिक 

व्यक्ति बैठिे हैं।



Seven persons A, B, C, D, E, F and G are sitting in row and all are facing 

towards north but not necessarily in the same order. B sits second from one of 

the extreme ends. Three persons sit between D and B. Two persons sit between 

D and A. C sits to the immediate left of A. F sits to left of C but is not an 

immediate neighbour of C. More than two persons sit between F and E.



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P

P, Q, R, S, T, U के रूप में लेबल क्तकए गए छह 

बक्से एक स्ीैक (ऊध्िाथिर व्यिस्था) के रूप में रख ेगए 

थे लेक्तकन जरूरी नहीं क्तक इसी क्रम में हों। प्रत्येक बॉक्स 

को एक अलग रंग में क्तचक्तत्रि क्तकया गया ह।ै बक्सों के रंग 

नारंगी, पीले, बैंगनी, नील, लाल और नीले थे लेक्तकन 

जरूरी नहीं क्तक इसी क्रम में हों। S और T के मध्य दो 

क्तडब्बे हैं। S, नील के क्तडब्बे के ठीक नीचे ह।ै लाल और 

बैंगनी बक्सों के बीच दो क्तडब्बे हैं। P को नारंगी क्तडब्बे के 

ठीक नीचे रखा गया ह।ै क्तडब्बा Q का रंग लाल नहीं ह।ै 

T को S के ऊपर नहीं रखा गया ह।ै Q और इकं्तडगो 

बॉक्स के बीच केिल नीला बॉक्स रखा गया ह।ै पीले 

क्तडब्बे को ढेर के नीचे से िीसरे स्थान पर रखा गया ह।ै 

पीला बॉक्स U के नीचे रखा गया ह।ै



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P


